SarkarlExam com

HTeTET NEwge e 9 ¥ 22
(A) =fgor st (B) 9T
(C) siissht (D) Siren2wr

(A) S faga 8 0

(B) 9= 9 =g &3 o :

(C) == 5@ oo 9= &9

(D) ma TEp e gEsg 8= H
3. HIEERE W ST -

FA-H e 5 = g e

{A) FTET HOE STiSTES
(B) =T

11

I

|

|

|

|

|

|

|

|

rare ﬂmmmmﬁ:
|

|

(C) s smsdaE=Ee {
|

|

|

|

i

Hraa g9 @=1 gar = 0 27
(A) Tava s=ge feafa faE-—2001
(B) Tass s=gem efa figid-2003
(C) Tavs sgem fefa foard-200s
(D) Tava sm=e frefa fard-2006
Hfe=n T9fs de =1 oy WS =9
w fou wmfon afeand sto1 ==w
mwm

(A) TfEToT StEEd §

(By o Sl 4

©) T8 < oy frwra S H

|
I
I
| s S
AP, B) P, ©FP, ® p, | D) s g | ORI A wE
4 aﬁa—ﬁmwmnﬁaﬁ%’ll 3‘\5}” g : 5 rereia b mﬁmmaﬁﬁaﬂaﬂm
=T B) fewras (A) R Reeshl 0, F TTEN gees S fozia =
:2)) wifeam :D;ma : AB) FFFRT (JFAL) =N # fere R e
5.  EEEeen gr aRa F R e | (C) FFERT (AT Rawil) , (A) . faeR  (B) e frewred
aﬁm-{‘rmﬁmﬂaﬁ%— | (D) R (TTER) ] © © ARfa (D)3 =T
(A) =FRier (B) sfaa 14 o g = aMr) @ T, = Tt vt @ Prefetea
(©) T (D) TEoT Bt usauiesh s @ | %R e w22
6. = 3= 2010 W fem oo § == | (mga g T 9 A W (A) TEF T Sifa = e,
qamm?*ﬁﬂﬂqﬁﬂ?ﬁﬁl ®) wﬁaa}ﬁ;;ﬁﬂ\‘&waﬂmg (B) Tr?’qm:ﬂﬁ!a»:lgaﬁm
s | YA w1 Tt 8 i (C) =i ued= fem i 1 g
(A);ﬁwg (B) Ftz® i ©) ﬂsﬁ‘aﬁwﬂﬁmmaﬁ|, (D) w=fm == gt Hg i =
ety L A By | ol ST awet § | TR
7. Uemlewd ;mﬁﬁrﬁiﬁyai (D)ﬂgﬁawwmﬁmln Wﬂfﬂ{ﬂ?ﬂiﬁ o feaEd
e, Ty e | N T e w g | TR e 8
(A) SeeTeiteran ¥ w21 T & jASe, THE T A B g T s (A) TeZaf T (B) OIS
(B) wﬂaﬁ:mtaﬁgw"ﬁ?mi' JwEl Taar w2 | (C) §HZ (D) TsF |9 =1
© T WL e wevn (A) SRRE  (B) aftrerg 23. IR =TT w1 e wet
(D) wrdfrE frareftera =31 2w { (Cy === (D) 37 99T l a2 '
8. ?AWWWWWQ‘!W,I Wgaeet #-15 ¥ 12 e, 2010 | (A) S0 (B) 2
wa & o wwar 87 ¢ 1 w1 foe Aftn s wwEide-2 @ | (C) =nferT= (D) ===
{A) B 99 | aﬁawmaﬂwﬁwa" ﬂmﬁanﬁmﬁm
TEa =y
(B) A T 09 J N [ WWM|WI =1 ) Freifie w3 el gar £
(C) AB 79 (D) BO, T | | | fFE swE w e - 15 | e :
9. ﬁﬂmﬂﬂﬂaﬁ#mwﬁfﬁal T wan A vy 7€ fea? I 2 e
=i gz W) SR @ywmemmer - GV R ﬁ
: ) '{23'&2 D) () (D) =
(A) ¥ 7 o | ( S '2 g ¥ gaEdr oS =futen s
(B) H=T Ta1 | 17 qutrﬁﬁaﬁwmaﬂ‘nﬁmﬂ' r e s
o I%a‘l m_. g
©) Hw= (D) SR - | Ayl i A8 I (A) 24 =T, 1993 =+
10. mﬂﬁaﬂmﬂﬂmmﬁmm} o 5 ; B
ESUEE oo R e i il B Sl ey : :
@) ES gEmE @A e | (© TS fun (G A S0
(©) 9. . =\ (D) Ty =rer | (D) T srRfa=s 3 | e iy

SarkariExam.com




SarkarlExam com

27.

29.

1z

33.

ST 39 g2 1 v=E A S

A g

(A) TSI I B0

(B) ==k I 3@ ~

(C) oItk |91 & =g 9 U= 997
= wuafa g/

(D) §9s = <49 9= 517

(Cy =g ufifirs &
(D) Wﬂ:%ﬁﬁmaﬁ‘fq

(A) = HI=4F 510

(B) THEUaEl 99 & AL &1
(Cy HHa &1 Tgafa g1

(D) FE=EEET U

N &1 9= HiE! SR $eE HEl
= T 22
(A) wifs=S8@ &
(Cy =r=dt &
(D) zisa" HTHER F

HFTT PR &1 |9 (Founder)
=12

(A) 0= gier=

(B) He=-fa=7-g7rerF

(C) FFe3EH faesit

(D) Ta==x ==t

(B) wieenm H

. Tezgia & faes SErfea =51 s | 35,

|
|

|
|
f
|
I
I
|
I
|
|
I
|
I
|
|
|
I
|
|
I
|
I
ki
o
I
I
|
!
I
i

=T 5 o7
(A) wrEl &
(C) e arm

(B) 1319 =140
(D) ==

sance Movement) & STIU 59 &—
(A) == A

(B) HeE = 99

(C) e == fagmarr

(D) T=T TE CHEA O

== s 2 -

(A) &E F59 =
(B) =itg wrifes =
(C) =g 9= =1
(D) =12 St =1

38. nmazaamqﬁﬁahﬁma}

ToTEA B g3 en?
(A) Hooll &
(C) vl &

ﬂﬂzﬁwﬁrqﬁ?{ﬁqw_aﬁwqmﬁ ﬁé‘wmuﬁm) mEs "

7 ef

(A} 1975 So ﬁ (B) 1980 o §
(C) 1985 3o H (D) 1990""% |

fo&q 9o 3 Em &
Frmior far an?

(tA) T=5e (3)ET
(C) =rd

HHE wuts o2 e T =) uE s @
T S @ et oW I S
41 ‘SR = Taeiw v B

(A) ST=Fd (B) 39
(C) TIT (D) =Tg=Fd
+ 42, ‘T=’ = faem ek g
(A) FFe (B) wE=F
(C) ¥ (D) T=A

43, ‘mfam’ = e o= -
(A) =wfa= (B) 3Ia=T

(C) HThidsh (D) s
44, ‘dHr w1 faAm W= E

(A) T=TE (B) Ty,

(C) =i (D) =T
45, ' ZEUT’ =1 gHEIOETH! 95 B

(A) HFRZ (B) S =T

(C) 5 (D) 9%

Frefafaa 9 @ S\ e G)0Ee | 460 SET 99 S = &5 sref £
s S (A) BT I

WA W QIS SWeeT (Renais- | 4o

— — — —

=T o9l Fer ¥ = 9S=s (Per- |49
manent Settlement) AN F33 HI F=3 |

(B) o= B
(C) T0H B =

(D) FEZ ATHF FL

‘HE = faeis us g

* (A) IqiET (B) ==
(©) ==Y (D) arTTT
‘wpEor’ =5 e s e
(a) Fsge (B) gt
(©) T g (D) 3T
‘afer’ W e B—
a) @ N P@ ==

ERR ‘ﬁ\ ;
<¢1_>5%‘ i = (D) g
T ¥ Y US-uF =

laﬁﬁﬁﬁmmnﬁa%‘waﬁ
P, FATT

(B) mﬁ%
(D) “}

1

Qx) =13 (B) 3979

3 St (D) S=d1
(A) ==l (B) FH30
(€) =301 (D) H=0
(A) =g (B) == 4T
(C) =% (D) =12
(A) =it (B) =@
(C) fa=a (D) Tttt
(A) 9=3r=T1 (B) T=3t
(©) w=ieiEt (D) F=fEit
(A) ST (B) SEEMT
'(C) FFEH (D) FFETT
(A) =aar (B) ==fat
(C) =i (D) =T
(A) TEZST (B) s=Z1
(€) === (D) T=A

‘TS e "EEA
(A) STT=TEE IEFTT
(B) =U-H4 SHFT
(C) === F95370

. (D) tife== Tus

‘arf-TE g W 3ref 2

{A) I T €T S

(B) AT w== BT

(C) =fe=a =

(D) =afea 2 =

‘3T W Ty W T W I 2
(A) HfasT =51 =19 919 =1

(B) = '1er &

(C) e fys ==

(D) ARG =S B

SarkariExam.com




SarkarlExam com

(8 o) P

Directions (Q.s. 41-45) : Read the foliow- |

ing passage carefully and answer the guestions =

given below it in the context of the passage.

Three space shuttles, slightly worn, 20 l
m miles on the clock between them, one not-
so-careful owner. Yours at a knockdown price |
of $42 m each, post and packing not included. |
At last, the perfect Christmas gift for the space |
buff who has everything. NASA plans to sell |
of its remaining shuttle fleet—Discovery, '
Atlantis and Endeavour, which between them |
have flown 86 missions since 1984—when
the programme is grounded. to raise funds for |
the cashstrapped agency. But wealthy wannabe |
astronauts will be disappointed :'their main |
engines will be removed before the sale, ren- |
dering them astronautically defunct. The ad- 1
vertised price is just the starting figure, and
includes the minimum $6m cost of stripping |
each shuttle of hazardous materials and flying

it to an airport of the buyer's choosing. NASA Ipraprmu Synonynuforthegrvenm

46.

It will cost $6 million— |
(A) to remove the main sngme of the B
shuttle

(B) 1o devoid the shutile ﬂymg capac- :
ity

(C) to make the shuttle reach the suit- |

(D) to remove hazardous materials
from the shuttle

Spot the mis-spelt word— |

(A) Consequence (B) Inate |

(C) Commercial |

(D) Communication |

Punctuate the foliowing—

58 Spot the error which may be in one part
of the sentence (4) or (B) or (C). If there =
is no error, the answer 1s (D) le. No
error. ' :

Mobhan is {A) more smart and taller (B)Y |

than Rakesh. {C)/ No error (D) 3

Directions (Q.s. 56-60) : Fiil in the
blanks with the words given below—

56. Try to be polite ........... Uncle Sam.
(A) with (B)to (C) for (D) on
I have also thought .......... studying

Biochemistry.
(A) to (B) for (C) of (D)about

asleep or awake he is always restless | 58. Takecare. ... - You should fall.

(A) Asleep or Awake, he is always rest- (A) of _(B) @!‘c"(c’ lest (D). else
less. | 59. She was‘ihways ®- 2

{B) Aslecep OR Awake he is atwnys | co (B} complaint
restless. (D) complains

(C) Asleep orawako—hensalwaysmst— | 60, s

(D) ::: ake, he is al () dater ) et
as “eeesp; or awake, is always | 8 - (C)" Seack (D) pop

Directions (Q.s. 48-49) : Choose ap- | PrEw s 61 & 75): A= U

| Wt ¥ weafasl (0) S 7T W =0 3

is facing a budget deficit for its next generanon | 48. Tolerate t_m;
Ares Rockets. {A) Swear B) Smmlate S s 100X 14
41. Which of the following is not a space (C) Bear D) Mum \ SIS (o2 DB
- -shuttle ? I Slender : | 14
(A) Discovery (B) NASA l (A) Thin (Bb Qﬂhﬂw. ! (A) 10 (B) 1.0 (C) 100 (D) 0.1
(C) Endeavour (D) Atlantis | (C) Bright (D) Rall | | 62. 3578 + 142354 + 78654 =2
42. Since 1984— ‘ W,‘,’;,;;{:;:;‘,;,,}, ’m"ﬂ mgﬁ,,,, hente : (A) 224576 (B) 225486
(A} Atlantis, Endcavoura_n'd Discovery | gg. Aggressive ]_ (©) 224586 (D) 215486
i (A)“Anacking  (B) Invading 63. 5050+ 25+25="
(B) Atlantis. Endsavour and Discovery | (C) Peagcful & (D) Vexed |
have madc 86 cxpg:ditiou;: ‘ 51. (A::‘“,]q &£ : (A) 227(B) 235 (O) :237 (D) 225
{C) Atlantics. Endeavour and Discov- (A) Hide (B) Clash A e
cry have watched 86 missions, a | (€) Rely (D) Reveal l“' (J') T _
feat no country had matched yet lm: To have second thought's means— | (A) 36 (B) 4 =3
{D) Nonec of these ' ___ w To have "?‘ai control or_pf)wer ] _ (C) 12° (D)4 =3¢
43. Why is NASA planning to sdl off lts . AB) lo reconsider one's decision % 5
old fleet ? S l (C) To befool someone {65. .T.,.Iz 1
; 9
A) T ki ol (D)_lnas:mpleorbrlefmner : :
g ums: "‘ﬁ" | 53. Change the Voice— | (A) 36 (B) 3600 (C)60 (D) 360
T must do it =
- . 66. 36723-7=25324-—14302
(B) Tomeamedmnmfvme l[ (A) I amistibe dome &l il et
peditions _ 0 4 1y (B) 1must be done by it 3 (A) (B)
(©) Tom anablc,tasogcd.sun- | (C) Tt should be done | (C) 24319 (D) %ig ¥
S;Sh 9;“‘.?‘*““"&"“ S (D) It must be done by me | 67. 201.01-101=2+ 19501
e - | 54: Change the Narration— | A) 5.989 B) 5.899
(D) Tomakcaspacosﬁ‘aﬁmusmnn | 'I'lleteachersaid,“llm,lamphued 1 (A) 5;39 (_D_) 5.;)99
44, Themain purpose of detaching the shuttle I with vou.” _(©) 3. (D) 5.
with mairt-engine is— (A) The teacher said as Ram that he | y 200 v 1
B0 et a0y {1y : (B) ﬁfliﬁ vml('; 2o R that ke | T
- p e Sai 1= 5
{B) because an outsider can't make it was pleased with him | 95 85
- e _ ; (C) The teacher told Ram that he was (A) 33 (8) 33
{C) tomake it defunct for astronautical | pleased with him | :
use - : | (D) mctcacbatoldmmammatbe | o oy 2
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